

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

## ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLR 8256P

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	REAR TAILGATE	TO REPAIR SEE LABOUR	2,125.20	-
1	REAR TAILGATE LOCK	NOT NECESSARY	954.40	-
1	REAR TAILGATE EMBLEM HARRIER	NECESSARY	75.30	75.30
1	REAR TAILGATE LOGO	NECESSARY	85.10	85.10
1	REAR TAILGATE EMBLEM TURBO	NECESSARY	76.30	76.30
1	REAR WEATHER STRIPE	NOT NECESSARY	353.40	-
2	REAR TAILGATE SIDE SENSOR @\$1055.30	NOT NECESSARY	2,110.60	-
1	REAR TAILGATE INNER TRIM BOARD	NOT NECESSARY	421.20	-
1	REAR TAILGATE WINDSCREEN GLASS MOULDING	NOT NECESSARY	218.90	-
2	REAR TAILLAMP @\$459.60	NOT NECESSARY	919.20	-
2	REAR TAILLAMP BRACKET @\$124.50	NOT NECESSARY	249.00	-
1	REAR BUMPER (TOP)	DISTORTED	1,384.75	881.00
1	REAR BUMPER (BOTTOM)	DISTORTED	744.50	466.00
2	REAR BUMPER REFLECTOR @\$112.60	NOT NECESSARY	225.20	-
2	REAR BUMPER SIDE RETAINER @\$79.40	NECESSARY	158.80	158.80
1	REAR BUMPER REINFORCEMENT	NOT NECESSARY	598.30	-
1	REAR BUMPER SPONGE	CRACKED	298.20	298.20
4	REAR BUMPER REVERSE SENSOR @\$482.00	DAMAGED	1,928.00	1,520.00
4	REAR BUMPER REVERSE SENSOR BRACKET @\$34.60	NECESSARY	138.40	138.40
1	REAR END PANEL	DENTED	765.20	765.20
1	REAR END PANEL TOP GARNISH	DEFORMED	395.40	395.40
1	REAR END PANEL TOP GARNISH CHROME	NOT NECESSARY	285.60	-
1	REAR END PANEL ABSORBER BALANCER	BENT	1,343.10	1,343.10
1	REAR END PANEL ABSORBER BALANCER BRACKET	NOT NECESSARY	251.60	-
1	REAR FLOOR PANEL	BUCKLED	972.00	972.00
1	REAR FLOOR PANEL GARNISH	NOT NECESSARY	398.60	-
1	REAR FLOOR TOP BOARD COVER	NOT NECESSARY	699.80	-
1	REAR SPARE TYRE BOTTOM SPONGE	DEFORMED	278.30	278.30
1	REAR EXHAUST MUFFLER	BENT	971.60	760.00
1	REAR EXHAUST HEAT SHIELD	NOT NECESSARY	180.30	-

Report Ref No. CS/AGI22007951/Aqy3m4



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	REAR EXHAUST RUBBER MOUNTING @\$45.20	NOT NECESSARY	90.40	-
1	FRONT BUMPER	DISTORTED	1,500.30	855.00
1	FRONT BUMPER REINFORCEMENT	DENTED	485.90	485.90
1	FRONT BUMPER SPONGE	CRACKED	215.60	215.60
2	FRONT BUMPER SIDE RETAINER @\$74.70	NECESSARY	149.40	149.40
1	FRONT BUMPER LOWER LIP	NOT NECESSARY	323.10	-
1	FRONT BUMPER LOWER MOULDING	NOT NECESSARY	178.90	-
1	FRONT BUMPER LOWER GRILLE	CRACKED	384.20	384.20
2	FRONT BUMPER LOWER GRILLE SIDE COVER @\$65.60	NOT NECESSARY	131.20	-
2	FRONT BUMPER FOG LAMP @\$431.80	NOT NECESSARY	863.60	-
2	FRONT BUMPER SIDE LAMP @\$164.80	NOT NECESSARY	329.60	-
4	FRONT BUMPER SENSOR @\$235.60	DAMAGED (2PIECES ONLY)	942.40	471.20
4	FRONT BUMPER SENSOR BRACKET @\$36.20	NECESSARY	144.80	144.80
1	FRONT GRILLE	CRACKED	892.50	892.50
1	FRONT GRILLE EMBLEM	NECESSARY	1,015.60	565.00
1	FRONT GRILLE MOULDING	CRACKED	505.80	505.80
1	FRONT DISTANCE SENSOR UNIT	NOT NECESSARY	1,560.30	-
1	FRONT DISTANCE SENSOR UNIT BRACKET	NOT NECESSARY	65.30	-
2	FRONT HEADLAMP LOWER BRACKET @\$150.60	NOT NECESSARY	301.20	-
1	FRONT SUPPORT PANEL	NOT NECESSARY	730.60	-
1	FRONT SUPPORT PANEL TOP GARNISH	DEFORMED	320.60	320.60
1	FRONT SUPPORT PANEL SIDE BRACKET	NOT NECESSARY	105.60	-
1	FRONT BRACE PANEL	NOT NECESSARY	158.70	-
1	BONNET LOCK	NOT NECESSARY	205.10	-
1	FRONT BUMPER TOP BEAM (ADDITIONAL)	BENT	301.10	301.10
1	FRONT BUMPER TOP BEAM SPONGE (ADDITIONAL)	CRACKED	112.20	112.20
1	FRONT BUMPER LOWER COVER (SMALL) (ADDITIONAL)	NOT NECESSARY	121.90	-
1	FRONT BUMPER LOWER COVER (BIG) (ADDITIONAL)	DEFORMED	172.30	172.30
2	FRONT HEADLAMP LOWER BEAM @\$216.80 (ADDITIONAL)	NOT NECESSARY	433.60	-
2	FRONT HEADLAMP LOWER BEAM SPONGE @\$49.80 (ADDITIONAL)	CRACKED	99.60	99.60
1	REAR TOOLS BOX (ADDITIONAL)	DEFORMED	782.30	782.30

Report Ref No. CS/AGI22007951/Aqy3m4



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	RADIATOR TOP COVER (ADDITIONAL)	NOT NECESSARY	400.70	-
1	RADIATOR (ADDITIONAL)	NOT NECESSARY	2,634.70	-
1	RADIATOR INTERCOOLER (ADDITIONAL)	DENTED	603.70	603.70
2	FRONT SUPPORT PANEL SIDE GARNISH @\$90.90 (ADDITIONAL)	NOT NECESSARY	181.80	-
2	FRONT HEADLAMP (LED) @\$6,714.50 (ADDITIONAL)	CRACKED	13,429.00	13,429.00
1	AIR CON CONDENSER (ADDITIONAL)	DENTED	2,044.10	2,044.10
	LESS 25% DISCOUNT		-13,130.99	-7,686.85
			39,392.96	23,060.55
	SPECIAL NETT ITEMS			
1	FRONT BUMPER CLIPS (SN)	NECESSARY	80.00	30.00
1	FRONT SUPPORT PANEL TOP GARNISH CLIPS (SN)	NECESSARY	60.00	20.00
1	FRONT GRILLE CLIPS (SN)	NECESSARY	60.00	30.00
1	FRONT AIR CON GAS (SN)	NOT NECESSARY	120.00	-
1	FRONT NUMBER PLATE WITH CASING (SN)	BENT	60.00	60.00
1	REAR BUMPER CLIPS (SN)	NECESSARY	80.00	30.00
1	REAR END PANEL TOP GARNISH CLIPS (SN)	NECESSARY	60.00	20.00
1	REAR TAILGATE INNER TRIM BOARD CLIPS (SN)	NOT NECESSARY	60.00	-
1	REAR TAILGATE WINDSCREEN GLASS SEALANT (SN)	NOT NECESSARY	150.00	-
1	REAR END PANEL SEALANT (SN)	NECESSARY	120.00	60.00
1	REAR FLOOR PANEL SEALANT (SN)	NOT NECESSARY	120.00	-
1	REAR REVERSE CAMERA (SN)	NOT NECESSARY	480.00	-
			1,450.00	250.00
	<u>LABOUR</u>			
	LABOUR FOR PANEL BEATING. INCLUSIVE OF THE REPAIR OF REAR TAILGATE.		2,200.00	1,600.00
	LABOUR FOR SPRAYPAINTING.		1,800.00	1,200.00
	WIRING CHECK.		80.00	60.00
	TO APPLY TUFF COATING/RUST PROOF ACCIDENT AREAS.		300.00	200.00
	LABOUR FOR REMOVE & TRANSFER REAR WINDSCREEN GLASS.	NOT NECESSARY	150.00	-
	LABOUR FOR REMOVE & TRANSFER REAR TAILGATE FITTING.	NOT NECESSARY	200.00	-

Report Ref No. CS/AGI22007951/Aqy3m4



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

21,500.00

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	LABOUR FOR REMOVE & RENEW REAR EXHAUST MUFFLER.		200.00	80.00
	LABOUR FOR REMOVE & RENEW AIR CON CONDENSER TOP UP GAS.		150.00	80.00
	LABOUR FOR REMOVE & RENEW FRONT DISTANCE SENSOR.		150.00	50.00
	TO RESET & RE-PROGRAMME FRONT DISTANCE UNIT.		300.00	300.00
			5,530.00	3,570.00
	GRAND TOTAL		46,372.96	26,880.55

Report Ref No. CS/AGI22007951/Aqy3m4

**RECOMMENDED COST OF LUMP SUM REPAIRS** 

(TO ITS PRE-ACCIDENT CONDITION)



**ADRIAN LING WAI PING** 

B.Eng, AMSOE, AMIRTE, AMSAE-A, M. MATAI

**Licensed Appraiser** 

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.